
SVILUPPI DI McLAURIN (i.e. x → 0). O⋅= o-grande, o⋅=o-piccolo:

sin x = x − 1
6 x3 + 1

5! x5 − 1
7! x7 + ...... + −1n x2n+1

2n+1!
+ Ox2n+3

cosx = 1 − 1
2 x2 + 1

24 x4 − 1
6! x6 + ..... + −1n x2n

2n!
+ Ox2n+2

tan x = x + 1
3 x3 + 2

15 x5 + 17
315 x7 + 62

2835 x9 + Ox11
cot x = x−1 − 1

3 x − 1
45 x3 − 2

945 x5 − 1
4725 x7 − 2

93 555 x9 + Ox11
1 + xα = 1 + αx + α

2 x2 + α
3 x3 + .... + α

n xn + Oxn+1

dove α ∈ R e α
n  =

αα−1α−2⋅⋅⋅⋅⋅⋅⋅α−n+1
n!

CASI PARTICOLARI:
1 + x = 1 + 1

2 x − 1
8 x2 + 1

16 x3 − 5
128 x4 + 7

256 x5 − 21
1024 x6 + Ox7

1 + x
1
3 = 1 + 1

3 x − 1
9 x2 + 5

81 x3 − 10
243 x4 + 22

729 x5 − 154
6561 x6 + Ox7

1 + x−1 = 1 − x + x2 − x3 + x4 − x5 + ..... + −1nxn + Oxn+1
1 + x−2 = 1 − 2x + 3x2 − 4x3 + 5x4 − 6x5 + Ox6
1 + x−

1
2 = 1 − 1

2 x + 3
8 x2 − 5

16 x3 + 35
128 x4 − 63

256 x5 + Ox6
1 + x−

1
3 = 1 − 1

3 x + 2
9 x2 − 14

81 x3 + 35
243 x4 − 91

729 x5 + Ox6
1 − x−1 = 1 + x + x2 + x3 + x4 + x5 + ..... + xn + Oxn+1
1 − x−2 = 1 + 2x + 3x2 + 4x3 + 5x4 + 6x5 + Ox6
cot x = x−1 − 1

3 x − 1
45 x3 − 2

945 x5 + Ox7
sinh x = x + 1

6 x3 + 1
5! x5 + 1

7! x7...... + x2n+1

2n+1!
+ Ox2n+3

cosh x = 1 + 1
2 x2 + 1

4! x4 + 1
6! x6..... + x2n

2n!
+ Ox2n+2

tanh x = x − 1
3 x3 + 2

15 x5 − 17
315 x7 + 62

2835 x9 + Ox11
coth x = x−1 + 1

3 x − 1
45 x3 + 2

945 x5 − 1
4725 x7 + 2

93 555 x9 + Ox11
arcsin x = x + 1

6 x3 + 1⋅3
2⋅4⋅5 x5 + 1⋅3⋅5

2⋅4⋅6⋅7 x7 + Ox9
arccosx = 1

2 π − x − 1
6 x3 − 1⋅3

2⋅4⋅5 x5 − 1⋅3⋅5
2⋅4⋅6⋅7 x7 + Ox9

arctan x = x − 1
3 x3 + 1

5 x5 − 1
7 x7 + .......... + −1n x2n+1

2n+1 + Ox2n+3
arccot x = 1

2 π − x + 1
3 x3 − 1

5 x5 + 1
7 x7 + Ox9

ln1 + x = x − 1
2 x2 + 1

3 x3 − 1
4 x4 + 1

5 x5 + ..... + −1n

n+1 xn+1 + Oxn+2
ln1 − x = − x − 1

2 x2 − 1
3 x3 − 1

4 x4 − 1
5 x5 + ........ − 1

n+1 xn+1 + Oxn+2
ln 1+x

1−x = 2x + 2
3 x3 + 2

5 x5 + 2
7 x7 + Ox9 = 2sett sinh x

ex = 1 + x + 1
2 x2 + 1

6 x3 + 1
4! x4 + ...... + xn

n! + Oxn+1
e−x = 1 − x + 1

2 x2 − 1
6 x3 + 1

24 x4 + .... + −1n xn

n! + Oxn+1
ax = 1 + ln ax + 1

2 ln2a x2 + 1
6 ln3a x3 + 1

4! ln4a x4 + .... + ln anxn

n! + Oxn+1
lnn! = n ln n − n + 1

2 lnn + ln 2π  + σn, 0 < σn < 1
12n

n! = n
e n 2πn 1 + 1

12n + O 1
n2 

1 + 1
2 + 1

3 + ...... + 1
n + .... − lnn = γ + n, 0 < n < 1

n ,
γ ∼ 0, 5772 costante di Eulero-Mascheroni


